q- Contents Tools Required
x (1) LH Mud Guard Phillips Screwdriver
q. (1) RH Mud Guard 7/32” Socket

(2) Phillips Screws Ratchet

(2)

Spring Clips 1/8” Drill Bit (Optional)
Front Mud Guard Installation Instructions ball {Gptiona)
2017-2020 F-250/F-350 with OEM Fender Flares
_—
Optional
Phillips Screw

M[ Original ]

7/32” Screws

1. Thoroughly clean and dry the vehicle in preparation of mud guard installation.
2. Remove (2) 7/32” bolts from the vehicle (see diagram # 2 & 3). Screws will be reused.

3. Peelred tape backing from the pre-installed adhesive on the mud guard.

4. Install the mud guard to the fender using the previously removed (2) 7/32” bolts (see diagram # 2 & 3). Ensure
the mud guard is properly aligned to the vehicle. Firmly press the double sided tape adhesive to the vehicle to
promote proper adhesion.

5. Install (1) spring clip over the mud guard and the fender lip at the designated marks in the mud guard (see
diagram “Spring Clip”).

OPTIONAL INSTALLATION

1. Using the mud guard as a template, drill the vehicle (see diagram # 1) using a 1/8” drill bit.

2. Install (1) screw clip behind each of the previously drilled holes, and secure the mud guard using (1)
Phillips screw.

SKU: SD19624



q- Contents Tools Required

x ) LH Mud Guard Phillips Screwdriver

q. RH Mud Guard 7/32” Socket
Phillips Screws 10mm Socket

1
(1)
(4)
(2) M6 Bolts Ratchet
Rear Mud Guard Installation Instructions Ej; 2;’;’?&%‘;@2 f/t;l,',tgrﬁ?'éft/(g;:s;l)
2017-2020 F-250/F-350 with OEM Fender Flares Drill (Optional)

Spring Clips

Optional
Phillips Screw

Double Sided
Tape

M6 Bolt

1. Thoroughly clean and dry the vehicle in preparation of mud guard installation.
2. Remove the (1) original bolt from the vehicle (see diagram # 2). Retain the plastic bolt sleeve in the vehicle.

3. Peelred tape backing from the pre-installed adhesive on the mud guard.

4. Place the mud guard to the vehicle. Secure the mud guard using (2) spring clips (See diagram, #1 & 3/
“Spring Clips”), and firmly press the mud guard to the vehicle to ensure proper tape adhesion.

5. Install the original plastic bolt sleeve onto the (1) M6 bolt. Install the M6 bolt through the bottom of the
mud guard and into the original vehicle bolt clip (See diagram, #2 / “M6 Bolt”). Tighten until secure.

OPTIONAL INSTALLATION

6. Using the mud guard as a template, drill the vehicle (see diagram # 1 & 3) using a 1/8” drill bit.

7. Install (1) screw clip behind each of the previously drilled holes, and secure the mud guard using (1)
Phillips screw per hole. Note: The provided screw clips act as a nut.

SKU: SD19624



	SD19624 - RedRock - Molded Mud Guards (17-20 F250 F350 with OEM Fender Flares)-01
	SD19624 - RedRock - Molded Mud Guards (17-20 F250 F350 with OEM Fender Flares)-02

